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Graph of f

The graph of the function f i1s shown above. What are all values of  for which f has a removable

discontinuity?



2. B Let £ be the function defined by f(z) = %’:{:f. Which of the following statements about f at

z =2andz = —1 15 true? (— I)S- 1(,|"\-SL_\\ . -l "Q. i'.i

Y =3[ vy 134
>3

C)fmwh@?%&ﬂ“@gﬂe#ﬁ@/kwﬁmwuw:—1 o
' \
f lmswm.t/wwm discontinuity at z = —1. ha‘&
ot

K= -1

@ f has a discontinuity due to a vertical asymptote at = 2. and f 1s continuous at z = —1.

@’ f has a discontinuity due to a vertical asymptote at & = 2. and f has a removable discontinuity at ¢ = —1.




4. Let f be the function defined by f(z) =

@ NWWWW&@teatm=0andatz=l.

f has a removable discontinuity at = 0 and a jump discontinuity at z = 1.
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@4&9 a removable discontinuity at £ = 0 and a discontinuity due to a vertical asymptote at z = 1.
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E f(z) - 73 4+4z2 +2—6

3sin(- 22)+322
Let f be the function defined above. Which of the following conditions explains why f is not continuous at
z=1?

@ Neither ll_’ﬁf (=) nor f (1) exists.
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@ z—nf(z) ex1sts but £ (1) does not exist. g h D\, é —> ( w \ wmfhk
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@ Both l‘_‘gf(z) and f (1) exist, but ll_’ﬂf(“’) # f(1),

@ Both ll_ﬂf (%) and £(1) exist, and i‘_‘_ﬁf (=) = £(1),
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A student attempted to confirm that the function f defined by f (z) = PO T

is continuous at 2 = 2. In

which step, if any. does an error first appear?
1 _ 2?46 _ (z-2)(z+3)
*Step 1: £ (2) = 22-Tz+10  (2-2)(z—5)

A +3 243 5
* Step 2: hmf (=) = %:-5 O

+Step 3: f(2) = 2+3 —%

* Step 4: zh_r’%f (“’) f (2) so f is continuous at £ = 2.

@ There is no error in the confirmation.



N (2% + 22 for z <1
3 forz=1
f@)=L a*+a2?+2 forl<z<3
0 for =3
L2241 for z >3

Let f be the piecewise function defined above. Which of the following statements is false?

@ f is continuous atx = 1.

f is continuous at z = 2.

@ f is continuous at z = 3.

@ f is continuous at z = 4.
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sinz for <0

cos forOSzS%’l
f(z) = 3

tanz for T"<a:§27r
cotz for 2rn <z < 57'

Let f be the function given above. On which of the following intervals is f continuous?
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2. Which of the following functions is not continuous on the interval —00 < £ < 00 ?

@ f@)=2*+23+2? +2+1
9@ =

@ h(z) = Fsinz

@ ko) = 1=




Which of the following functions are continuous on the interval ) < 2 < 2 ?

L f@) = 55
2.9(e) = 5%

3. h(z) = In(z? — 1)



c for x =0

1. f(a:)={% for z #£0

The function f is defined above, where € is a constant. For what value of € is f continuous at & = 0 ?
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2 Ef() 2 —sinz forz <1
= x) =
czy/2? +2+c¢ for z>1

Let f be the function defined above, where ¢ is a constant. For what value of € 1s f continuous for all  ?

@ There 1s no such value of €.



3 fe) = {:r:3+b2 for z < 2

bz +2b for 2> 2
Let f be the function defined above. where b is a constant. For what values of b, if any, is f continuous at
z=27?

@ There 15 no such b.



